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Part 1 (50 Marks)
Q1. Read carefully and choose the right answer of the following: (10 Marks) 1 ML K
Lsteel (@

2. energy transferred by a temperature t—.\ ede h
e difference (A) |

3. radiation will provide quick warmth | 4. 3.0 (D)

(B)

5. of same frequencies (B)

6. heat of sublimation (C)

7. the temperature remains the same (C) | 8.60dB(E)

9.20 (0 20,000 HZ (C)
b
)2

(23 Marks)
olution:

10. convection (B)

¢ sound waves from the two speakers undergo interference. Whether the interference is
tructive or destructive depends on the path length difference.

) One speaker is 3.75 m from the listener and the other is:

ki =@’ + (3752 =425m \
e path difference is: (@’

-,

e Ax=425m—-375m=050m
Destructive interference occurs when the path difference is

. ~
]
o]

Ax=(@2n+1)42,n=0,1,2,3,...0r | (3
12,3002, 5202......or Ax = vI2£ 312 SVI2F ... = nvif

nv n 343
R o =135 SCS

uer cy that gives minimum signal is (1= 0) fn; =343 Hz. 3

terference the path difference is an integer number of wavelengths:

X=nAn=0,1,2,3,. . where: A = ;or: g‘e
k- o - \, 4
Ax o ame—l 2 3 ... .

i mgmmum Signal s (n =1) fﬂ“!,l =686 Hz. | ’
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Qs. (17 Marks)
‘
Solution:
For a meltmg phase ransinon. 0 = ml;. U
0 Ri(Ty-T,
The rate of heat conduction is = - ji—w).
[
s liean conducted by the rod 1n 100 s 1 |
S N 44‘
2Ly = (8.50%107 ke)(33410° Jike) = J84x10° 1.
P 084<10° y
.. 3G
- 600 <

(O (473 W)0.600 m)
ATy -T0) (1254107 m™)(100 )
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